


9.6mm

7mm 5.5mm

7.5mm

13

13





M1.6*4 CS Screw�

M1.6*3 CS Screw�

1.5*2.5*0.5 Spacer

2.75 Rod End Ball

Suspension Pin Balls

13

1.6*13 pin



2*14 pin

M1.6*4 CS Screw�

2*5*2.5 Bearing

2*5*2.5 Bearing

6*10*2.5 Bearing

M2*10 CS Screw�M2*4 CS Screw�

M2*4 CS Screw�



2.5 Rod End Ball

M2*6 CS Screw�



1.6*10 pin

M1.6*3 CS Screw�

2.5 Rod End Ball

3*6*2.5 Bearing

5*8*2.5 Bearing

5*8*0.2 Spacer x 2

5*8*0.2 Spacer



2*2.4*2.2 Spacer

M2*5 RH Screw



M2*4 RH Screw

M2*2 Set Screw



M2*5 RH Screw

M1.6*2 Set Screw

M1.6*5 Set Screw

7mm Ball End Cap

2.75 Rod End Ball

15mm



M2*6 CS Screw�











2.5 Rod End Ball

3*6*2.5 Bearing


















